Last Name: First Name:

1) True 13.) 9)

2.) False 14) 22%-B3x+4+ "'52;_2%2

3.) True 15) 2x°%-llz+22+ i%/z"

1) Tyue 16.) N

5.) False 17.) "f“(x*'{zvz—"/'

6.) Tyue 18.) O

7) True 19) 1+Vil" and [ -1
8) Calse 20.) 5

9.) 2 21) 2 (x—ZYx7‘+x+2>
10.) = 22) 2 (x+2>(x*3>(1“'4>

_ -2\3
11.) § (g«): (%—>+l 23)  X*2 Z2-3

12.) [2/7 , OO)




24.) 24/7 + 1

BT

25.) /41

p4

10 =

I 3

e

Pdl

od =

w‘.dl



Second Exam

True/False

For #1-8 write the entire word “True” or the entire word “False”.

L) 3-8
2.) (z+y)"=z"+y"

7.) a(b+c) = ab+ ac
8.) Tz + 1222 + 5z — 4 has 4 roots.
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Algebra
9.) Find x where (z + 4)®> + 7 = —20.

(x+4)’=-27

xrt 27 = -3
--7

—

10.) If g(z) is an invertible function, and ¢(3) = 5, then what is g=1(5)?



11.) Find the inverse of f(z) = 3v/z — 1 + 2. (You can check your answer
by seeing if f~! o f(z) = x.)

%J=Sﬂ§;7ﬂ7+2 : ;z:(ﬁé£>3

S IO )
(2‘:’5/7“3 =x-|

12.) What is the implied domain of g(z) = —/7Tz — 2 + 182% — 37 (Write
your answer as an interval.)

7x-220
TEZ
Xz %

3, 05>

13.) Suppose that a # 0 and that b*> —4ac > 0. Write the following number
as an integer in standard form:

a(_b_\/m)2+b(_b_m)+c

2a 2a
O




6x* — 9x3 + 1622 — 5z + 11
3z2 4 2
224% ~-3x +4

3x%+2 (2"~ 9aP 4 x-Sl
ext + Yz ?

p—

14.) Find

—

~9x3 4 |22%-5x +]|
~3x2> - 6x
12x* « x + 1]
122* +3
o X +3

23 — Tx2 + 3

15.) Fi
5.) Find —T3

212 -7 o 3R

-4 22 -uy
2 -l 22 -

16.) What is the slope of the straight line in R? that passes through
the points (4,3) and (6,9) ?




17.) Complete the square: Write 4z + 4z — 3 in the form a(z + )% + v
where a, 8,7 € R.

et 2 e g - g L2
**2w) T3 i - tla+z) -4

18.) How many roots does 322 — 2z + 10 have?

F2) - 4(3)(10) = 4120 <O
so O (outs

19.) Find the roots of z? — 2z — 10
2
A "Hl)(-lcﬂ = H+Ho=y4

2244 gx21(] )
201 ;= 1Hhr

20.) Find a root of 3z° + 8z% + 5 + 2

Factors of 2 L& #2 =1,

2(-2)+ 8(-2)"+ 52D+ 2 = 3¢8)+ 84 )+5(2)+2
2 PHsBl= 0@ 2
=P
So -7 15 a4 f(ost.



21.) (2 points) Completely factor 223 — 22® — 8. (Hint: 2 is a root.)
(Your answer should be a product of a constant and maybe some linear and
quadratic polynomials that have leading coefficients equal to 1, and such that

any of the quadratics in the product have no roots.)
Discviminant off 2a*+2x+4

212 -2 O -9
is 25-4@)%)=4-33<0

4 4 g
2 2 9448 so tfactor 17 Qacteving out
( e laacliv:j cga-q?;c‘\“:j_/_
22%-2x%-8
£ ™
() (212*-21“1‘)
P
2 (xPex+2)

22.) (2 points) Completely factor 2z% + 922 + 7z — 6. (Hint: -2 is a root.)
(Your answer should have the same form as described in #21.)

Discxin nant °£ 2x*+52-3

2129 7 -¢
s 5*-4(2)(-3)=25+2%
-4 <106 i
7 5 -3! 0 2 Roots: "5+ 57
2(2) Y
= Z
243+92%+72- 6 Uy
= |
P "4
(X*ﬂ, (21,7'4-51—5) and —-5-7: 10 3
E

™
2 (2¢3 (x-%)
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Graphs

23.) List all of the monic linear factors of p(x) that you know of from the
graph below.

N 2'3\/ 4+ 5 <

Yoots: -2 ,73

gac'l‘ofs > &0 S -3

m&k\:{em y? shift lefr 1.

24.) Graph 2v/x 4 1 and label its z- and y-intercepts.
X-mt: 2y{x+l z0=D X=-|
’g.-;n‘l‘-' 2_\‘0-@, ' 2
25.) Graph {/% + 1 and label its z- and y-intercepts.
/2 X-int: il’%'«-l:o = xX<-~2
steetch e, shift up 1. e
2 L AT |
26.) Graph 3z + 2 and label its z- and y-intercepts.
X-wntt 3x42=0 = % x= -%
(? ~nt: 2042 =2
27.) Grap —2) 2 &1 and label its vertex. (You don’t have to be accurate

with the z- gnd y-i ercep?ﬁ\
l’afal;ola ﬂx S‘n&'r “p 1—
orzns up: slﬁQ‘r ﬁj\t Z




